Estimating Equations

Vow we will lawsider ¢ rcbms{ﬂ"{yf’%“ i ference S0 faf w3t pecifetion - docs not tualidite
Fesulhity Pfemes.

“ m- esHmm‘llq” M]S;P;o’.ﬁ\g} modds".

%‘V'&\p Example: Consider the Z = (Z1,...,Z5)" with cdf
Wi

11 1 _1 o _1\“¢
F(z;a):exp{—(zla+z20—|—z3“—|—z4"+z5°‘) }, z>0,a€(0,1].

T =] — indegerdousr
d—> 0 omglete Aptebinct Czl- =2 . 1).
Margind *
P(z:€ =)= op(-(x%)"] = emtz)
Wit Frechet”

Comments: it " Lints5

gw.+0&\" ‘F': At dad "/ w

1. F is max-stable. exfren®

defs [FGaz)]' = F(2)
Foa T~ (b foniems 6273 )
) (@*r[—i e --+2"?)}*Dq

< (@C?[ (z .. +2 >°(]>n
= ext((2%er V)= i)

2. Z1,...,Z5 are exchangeable. grdor Jozsn't matien
P

P(-ZI'J—'J%s) = P(ZJJ 27«7 Zq, Zgl:zl) fl;}'C-

Realish'c? M.u,l,( nek.

But +|m'$ 3ivc5 Vs Qw -Pa,frbnio J-ﬂfwo(ﬂn%',ulm‘()ﬂ lam L\Jr ns redmee P 7# 0# ’fmdﬂi
oo 1 —

fud Hluste e ancepl™ of. 01 esb'm}*f»? Wi’m.

e



MLE . piloed
ue el et £

Let’s consider the likelihood.
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How about if we were to just use pairs of points to estimate a?
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If we just used (z1i, 22i),© = 1,...,n would the likelihood based on the bivariate density be
a good estimator for a?
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